

## The structure-preservation under consistent functions for interior and closure of fuzzy neighborhood systems

LONGYU HE, HUAN MA, HONG RAN, KEYUN QIN

Received 4 November 2021; Revised 18 December 2021; Accepted 24 December 2021

---

**ABSTRACT.** The neighborhood system(NS) is one of the most general structures for granular computing. The concept of consistent function is a tool to study the structure-preservation for closure and interior operators of NS. In this paper, the definition of interior and closure operators are generalized for fuzzy neighborhood system(FNS) via fuzzy implicator and triangular norm, some properties of FNS under consistent functions are investigated. The consistent functions satisfy structural preservation properties on the universe, and surjective functions also preserve properties for FNS on the image universe with left-continuous triangular norm operator. In addition, the Lukasiewicz operators for FNS satisfy the duality.

2020 AMS Classification: 03E72, 94D05

**Keywords:** Interior operator, Closure operator, Fuzzy neighborhood system, Consistent function, Rough set.

---

### 1. INTRODUCTION

The rough set theory (RST), initiated by Pawlak [1, 2], is a mathematical tool to deal with inexact or uncertain knowledge. The basic structure of RST is an approximation space which is constituted by a universe and an equivalence relation on the universe. The related equivalence classes are induced by the equivalent relation, they are definable subsets. It can be used to approximate subsets of universe by the lower and upper approximations. The lower approximation is the greatest definable set contained in the given set of objects, while the upper approximation is the smallest definable set containing the given set.

Besides the RST, there are many other useful tools to deal with uncertain problems. Soft set theory is a mathematical method, it was proposed by Molodtsov [3], and makes up for the lack of parameter set in traditional fuzzy set. There are increasing researches on the properties and applications of soft sets in recent years, such

as the theory of soft topological space generated by L-soft sets [4], soft bitopological space theory [5, 6], and soft topological subspaces [7].

Over the years, many generalizations and applications of rough set model have been developed. Information system is one of the applications of rough sets, which is a formalism for representing knowledge about some objects in terms of attributes and their values [8]. RST is a useful tool to deal with single information system and the communication between two information systems [9, 10, 11, 12]. The communication, namely, the information transmission or mapping between information systems. Sometimes the information transmission is required for some practical reason. For example, the equivalent attribute reduction and rule extraction [13]. Therefore, it is worthwhile to study the communication between information systems.

Wang et al. [9] first proposed the notion of consistent function, and it was used to investigate the communication between two information systems [9]. Zhu [14] presented two equivalent definitions of the consistent functions in [9] respectively, and improved some important properties of consistent functions with respect to the lower and upper approximations under relation mappings. But those conclusions are limited on the general binary relation.

In addition, as a generalization of RST, neighborhood system associates each element of a universe with a family of neighborhoods. The concept of NS was initiated by Lin as a concrete model of granular computing(GrC), and it is one of the most general structures for GrC [15]. Focus on the properties and applications of NS, there has been much work in recent years [16, 17, 18]. The concept of consistent function was extended to the framework of NS to conclude some important properties in [19]. Liao et al. [20] viewed it as granule-based consistent functions and proposed the notion of system-consistent(sys-consistent) function for NS. Combined with interior and closure operators on NS [21, 22], it is proved that sys-consistent functions are structure-preserving mappings. In addition, the concept of NS has also been extended into a fuzzy setting by allowing neighborhoods to be fuzzy [23]. Therefore, are these conclusions before also valid for fuzzy neighborhood systems? That is the problem we want to solve in this paper.

In fact, the conclusions for fuzzy neighborhood system based on the interior and closure also have been investigated in [20]. However, the conclusions for FNS are based on the interior and closure with Godel operator in [20]. Godel operator is a kind of special implication operator, the case for more general operators has not been studied. Therefore, this paper does provide a new research direction for FNS and makes a new contribution the research of FNS. The general operators for interior and closure of FNS are introduced in this paper, they are defined by general fuzzy implicator and triangle norm. Some properties of consistent functions with respect to the interior and closure are discussed, and for the special Lukasiewicz operators, the conclusions are presented there.

## 2. PRELIMINARIES

The theory of fuzzy sets initiated by Zadeh [24] provides an appropriate framework for representing and processing vague concepts by allowing partial memberships. Let  $U$  be a nonempty set, called universe. A fuzzy set  $\mu$  of  $U$  is defined by a membership function  $\mu : U \rightarrow [0, 1]$ . For any  $x \in U$ , the membership value  $\mu(x)$  specifies the

degree to which  $x$  belongs to the fuzzy set  $\mu$ . We denote by  $P(U)$  and  $F(U)$  the set of all subsets and fuzzy sets of  $U$ , respectively.

Let  $U$  and  $V$  be two universes and  $f : U \rightarrow V$  a mapping. We note that  $[x]_f = \{x' \in U | f(x') = f(x)\}$  and  $U_y = \{x \in U | f(x) = y\} = f^{-1}(\{y\})$ . By Zadeh extension principle for fuzzy sets, the mapping  $f$  can be extended to fuzzy power sets  $f : F(U) \rightarrow F(V)$  and  $f^{-1} : F(V) \rightarrow F(U)$  given by:  $\forall y \in V$  and  $\forall x \in U$

$$(2.1) \quad f(\mu)(y) = \begin{cases} \sup_{x \in f^{-1}(\{y\})} \mu(x), & f^{-1}(\{y\}) \neq \emptyset \\ 0, & \text{otherwise} \end{cases}$$

$$f^{-1}(\lambda)(x) = \lambda(f(x))$$

for any  $\mu \in F(U)$  and  $\lambda \in F(V)$ .

**Lemma 2.1.** *For any  $\mu, \nu \in F(U)$  and  $\omega, \lambda \in F(V)$ , it is obvious that the following properties hold:*

- (1)  $\mu \subseteq f^{-1}(f(\mu))$ ,
- (2)  $f(f^{-1}(\lambda)) \subseteq \lambda$ ,
- (3)  $f(\mu) \subseteq f(\nu)$  if  $\mu \subseteq \nu$ ,
- (4)  $f^{-1}(\omega) \subseteq f^{-1}(\lambda)$  if  $\omega \subseteq \lambda$ .

In semantics, an fuzzy implication operator is a binary operation  $\rightarrow : [0, 1]^2 \rightarrow [0, 1]$  satisfying the following conditions [25]:

- (1)  $0 \rightarrow 0 = 0 \rightarrow 1 = 1 \rightarrow 1 = 1, 1 \rightarrow 0 = 0$ .
- (2)  $a \rightarrow b$  is increasing with respect to  $b$  and decreasing with respect to  $a$ .

Triangular norms ( $t$ -norms) are closely related to fuzzy implication operators. A function  $\otimes : [0, 1]^2 \rightarrow [0, 1]$  is said to be a  $t$ -norm if  $\otimes$  is associative, commutative and satisfy the conditions  $a \otimes 1 = a$  and that  $a \leq b$  implies  $a \otimes c \leq b \otimes c$  for all  $a, b, c \in [0, 1]$ . If a  $t$ -norm  $\otimes$  is left-continuous, then  $a \otimes \sup_{i \in I} b_i = \sup_{i \in I} (a \otimes b_i)$  holds where  $a, b_i \in [0, 1] (i \in I)$ , and  $I$  is a nonempty set of indices. Let  $\otimes$  be a  $t$ -norm and  $\rightarrow_{\otimes} : [0, 1]^2 \rightarrow [0, 1]$  be defined as

$$(2.2) \quad a \rightarrow_{\otimes} b = \sup\{x \in [0, 1] | a \otimes x \leq b\}$$

for all  $a, b \in [0, 1]$ .  $\rightarrow_{\otimes}$  is called the *adjoint implication operator induced by  $\otimes$* .

**Theorem 2.2** ([26]). *Suppose that  $\otimes$  is a left-continuous  $t$ -norm. Then  $\rightarrow_{\otimes}$  is an fuzzy implication operator and*

- (1)  $a \rightarrow_{\otimes} b = 1$  if and only if  $a \leq b$ ,
- (2)  $a \leq b \rightarrow_{\otimes} c$  if and only if  $b \leq a \rightarrow_{\otimes} c$ ,
- (3)  $a \rightarrow_{\otimes} (b \rightarrow_{\otimes} c) = b \rightarrow_{\otimes} (a \rightarrow_{\otimes} c)$ ,
- (4)  $1 \rightarrow_{\otimes} a = a$ ,
- (5)  $a \otimes b \leq c$  if and only if  $a \leq (b \rightarrow_{\otimes} c)$ ,
- (6)  $a \rightarrow_{\otimes} \inf\{b_i | i \in I\} = \inf\{a \rightarrow_{\otimes} b_i | i \in I\}$ ,
- (7)  $\sup\{b_i | i \in I\} \rightarrow_{\otimes} a = \inf\{b_i \rightarrow_{\otimes} a | i \in I\}$ .

**Example 2.3.** The following are three left-continuous  $t$ -norms:

$$(2.3) \quad a \otimes_L b = (a + b - 1) \vee 0,$$

$$a \otimes_G b = a \wedge b,$$

$$a \otimes_\pi b = ab.$$

The related fuzzy implication operators  $\rightarrow_L$ ,  $\rightarrow_G$  and  $\rightarrow_\pi$  (they are called Lukasiewicz operator, Godel operator, and product operator, respectively) are given by:

$$(2.4) \quad \begin{aligned} a \rightarrow_L b &= (1 - a + b) \wedge 1, \\ a \rightarrow_G b &= \begin{cases} 1, & \text{if } a \leq b \\ b, & \text{if } a > b, \end{cases} \\ a \rightarrow_\pi b &= \begin{cases} 1, & \text{if } a = 0 \\ \frac{b}{a} \wedge 1, & \text{if } a > 0. \end{cases} \end{aligned}$$

The neighborhood system is a general structure for GrC. It has been extended to fuzzy setting by Lin [23] as follows.

**Definition 2.4** ([23]). Let  $U$  be a universal set. A *fuzzy neighborhood system* (FNS) on  $U$  is a mapping  $\tilde{N} : U \rightarrow P(F(U))$ , which associates each element  $x$  of  $U$  with a family  $\tilde{N}(x)$  of fuzzy subsets of  $U$ .

Every element of  $\tilde{N}(x)$  is called a *fuzzy neighborhood* of  $x$ . A neighborhood is also called a *granule in terms* of GrC. Fuzzy neighborhood system can be constructed by using fuzzy relations or fuzzy coverings on  $U$ .

**Example 2.5.** (1) Let  $U$  be a universe and  $R : U \times U \rightarrow [0, 1]$  an fuzzy relation on  $U$ . Each  $x \in U$  is associated with both a fuzzy predecessor neighborhood  $R_p^x$  and a fuzzy successor neighborhood  $R_s^x$ , where  $R_p^x(y) = R(y, x)$  and  $R_s^x(y) = R(x, y)$  for any  $y \in U$ . Consequently, we have three fuzzy neighborhood systems given by:

$$\tilde{N}_p(x) = \{R_p^x\}, \quad \tilde{N}_s(x) = \{R_s^x\} \text{ and } \tilde{N}_R(x) = \{R_p^x, R_s^x\} \text{ for any } x \in U.$$

(2) Let  $U$  be a universe and  $\Delta = \{C_i | i \in I\} \subseteq F(U)$  be a fuzzy covering of  $U$ , that is  $\sum_{i \in I} C_i(x) \geq 1$  for any  $x \in U$ .  $\Delta$  induces an fuzzy neighborhood system  $N_\Delta$  given by  $N_\Delta(x) = \{C_i | i \in I \wedge C_i(x) > 0\}$  for any  $x \in U$ .

The notion of consistent functions with respect to fuzzy neighborhood systems is introduced to reduce information systems while preserving their basic functions.

**Definition 2.6** ([19]). Let  $U$  and  $V$  be two universal sets,  $f : U \rightarrow V$  is a mapping and  $\tilde{N}$  is a fuzzy neighborhood system on  $U$ .  $f$  is called a *consistent function with respect to  $\tilde{N}$* , if for any  $x, y \in U$ ,  $f(x) = f(y)$  implies that  $M(x) = M(y)$  for any  $M \in \bigcup_{z \in U} \tilde{N}(z)$ .

In view of GrC,  $\bigcup_{z \in U} \tilde{N}(z)$  is the granular structure induced by  $\tilde{N}$ . Consistent function is also called granular consistent function in [20]. In order to investigate the closure and interior with respect to neighborhood systems, Liau et al. [20] introduced the notion of weakly system consistent function and system consistent function.

**Definition 2.7** ([20]). Let  $U$  and  $V$  be two nonempty universes, and let  $\tilde{N} : U \rightarrow P(F(U))$  be an fuzzy neighborhood system on  $U$ . A mapping  $f : U \rightarrow V$  is called a *weakly system-consistent function* (in short, weakly sys-consistent function) *with respect to  $\tilde{N}$*  if for any  $x, y \in U$ ,  $f(x) = f(y)$  implies that  $f(\tilde{N}(x)) = f(\tilde{N}(y))$ .

**Definition 2.8** ([20]). Let  $U$  and  $V$  be two nonempty universes, and  $\tilde{N}$  be a fuzzy neighborhood system on  $U$ . Then, a mapping  $f : U \rightarrow V$  is called a *system consistent function* (in short, sys-consistent function) *with respect to  $\tilde{N}$*  if for any  $x, y \in U$ ,  $f(x) = f(y)$  implies that  $\tilde{N}(x) = \tilde{N}(y)$ .

### 3. THE INTERIOR AND CLOSURE OPERATORS IN FNS

The notions of closure and interior in neighborhood systems are introduced in [21] for representing the lower and upper approximations of a concept respectively. These notions are generalized to fuzzy neighborhood systems by Liau et al. [20]. In this section, we consider a further generalization form of closure and interior in fuzzy neighborhood systems on the universe.

**Definition 3.1.** Let  $\tilde{N} : U \rightarrow P(F(U))$  be an FNS on  $U$  and  $\mu \in F(U)$ . The interior  $\underline{\mu}_{\tilde{N}}$  and closure  $\overline{\mu}_{\tilde{N}}$  of  $\mu$  with respect to  $\tilde{N}$  are fuzzy sets given by

$$(3.1) \quad \underline{\mu}_{\tilde{N}}(x) = \sup_{\nu \in \tilde{N}(x)} \inf_{y \in U} (\nu(y) \rightarrow \mu(y))$$

$$(3.2) \quad \overline{\mu}_{\tilde{N}}(x) = \inf_{\nu \in \tilde{N}(x)} \sup_{y \in U} (\nu(y) \otimes \mu(y))$$

for any  $x \in U$ , where  $\rightarrow$  is a fuzzy implication operator and  $\otimes$  is a  $t$ -norm.

We note that if  $\otimes = \wedge$  and  $\rightarrow$  is Godel implication operator, then (3.1) and (3.2) will degenerate to the closure and interior defined in [20].

We consider the transformation of an FNS by a mapping. Let  $U$  and  $V$  be two universes,  $f : U \rightarrow V$  be a mapping and  $\tilde{N} : U \rightarrow P(F(U))$  be an FNS on  $U$ . Then  $f(\tilde{N}) : V \rightarrow P(F(V))$  is an FNS on  $V$  defined by:

$$(3.3) \quad f(\tilde{N})(y) = \cup\{f(\tilde{N}(x)) | x \in U, f(x) = y\}$$

for any  $y \in V$ . It is trivial to verify that  $f(\tilde{N})(y) = \{f(A) | A \in \bigcup_{x \in f^{-1}(\{y\})} \tilde{N}(x)\}$ .

We note that  $f(\tilde{N})(y) = \emptyset$  if  $f^{-1}(\{y\}) = \emptyset$ .

**Theorem 3.2.** Let  $U$  and  $V$  be two nonempty universes, let  $\tilde{N} : U \rightarrow P(F(U))$  be an FNS, and let  $f : U \rightarrow V$  be a mapping. Then for any fuzzy subsets  $\mu \in F(U)$ , we have

- (1)  $f(\underline{\mu}_{\tilde{N}}) \subseteq \underline{f(\mu)}_{f(\tilde{N})}$  if  $f$  is consistent with respect to  $\tilde{N}$ ,
- (2)  $\underline{\mu}_{\tilde{N}} \subseteq f^{-1}(\underline{f(\mu)}_{f(\tilde{N})})$  if  $f$  is consistent with respect to  $\tilde{N}$ ,
- (3)  $f(\overline{\mu}_{\tilde{N}}) \subseteq \overline{f(\mu)}_{f(\tilde{N})}$  if  $f$  is weakly sys-consistent with respect to  $\tilde{N}$ ,
- (4)  $\overline{\mu}_{\tilde{N}} \subseteq f^{-1}(\overline{f(\mu)}_{f(\tilde{N})})$  if  $f$  is weakly sys-consistent with respect to  $\tilde{N}$ .

*Proof.* (1) For any  $y \in V$ , if  $y \in V \setminus f(U)$ ,  $f(\underline{\mu}_{\tilde{N}})(y) = 0$ , then the conclusion is obvious. We just need to prove the case  $y \in f(U)$  in the following steps.

$$\underline{f(\mu)}_{f(\tilde{N})}(y) = \sup_{\omega \in f(\tilde{N})(y)} \inf_{y' \in V} (\omega(y') \rightarrow f(\mu)(y')).$$

According to the definition of  $f(\tilde{N})(y)$  and  $y \in f(U)$ , for any  $\omega \in f(\tilde{N})(y)$ , there exists  $x \in f^{-1}(\{y\})$  and  $\nu \in \tilde{N}(x)$  such that  $\omega = f(\nu)$ . Thus we have

$$\begin{aligned} \underline{f(\mu)}_{f(\tilde{N})}(y) &= \sup_{\nu \in \bigcup_{x \in U_y} \tilde{N}(x)} \inf_{y' \in V} (f(\nu)(y') \rightarrow f(\mu)(y')) \\ &= \sup_{x \in f^{-1}(\{y\})} \sup_{\nu \in \tilde{N}(x)} \inf_{y' \in V} (f(\nu)(y') \rightarrow f(\mu)(y')). \end{aligned}$$

If  $y' \in V \setminus f(U)$ , then by Zadeh extension principle, we have  $f(\nu)(y') = 0$ . Thus we get

$$\begin{aligned} \inf_{y' \in V} (f(\nu)(y') \rightarrow f(\mu)(y')) &= (\inf_{y' \in f(U)} (f(\nu)(y') \rightarrow f(\mu)(y')) \wedge (0 \rightarrow f(\mu)(y'))) \\ &= (\inf_{y' \in f(U)} (f(\nu)(y') \rightarrow f(\mu)(y'))) \wedge 1 \\ &= \inf_{y' \in f(U)} (f(\nu)(y') \rightarrow f(\mu)(y')) \\ &= \inf_{x' \in U} (f(\nu)(f(x')) \rightarrow f(\mu)(f(x'))). \end{aligned}$$

So  $\underline{f(\mu)}_{f(\tilde{N})}(y) = \sup_{x \in f^{-1}(\{y\})} \sup_{\nu \in \tilde{N}(x)} \inf_{x' \in U} (f(\nu)(f(x')) \rightarrow f(\mu)(f(x')))$ .

In addition, we have

$$f(\underline{\mu}_{\tilde{N}})(y) = \sup_{x \in f^{-1}(\{y\})} \underline{\mu}_{\tilde{N}}(x) = \sup_{x \in f^{-1}(\{y\})} \sup_{\nu \in \tilde{N}(x)} \inf_{x' \in U} (\nu(x') \rightarrow \mu(x')).$$

According to Zadeh extension principle and  $f$  is consistent with respect to  $\tilde{N}$ , we have

$$f(\nu)(f(x')) = \sup_{x'' \in [x']_f} \nu(x'') = \nu(x'),$$

and

$$f(\mu)(f(x')) = \sup_{x'' \in [x']_f} \mu(x'') \geq \mu(x').$$

Hence  $\nu(x') \rightarrow \mu(x') \leq \nu(x') \rightarrow f(\mu)(f(x'))$ . Therefore  $f(\underline{\mu}_{\tilde{N}})(y) \leq \underline{f(\mu)}_{f(\tilde{N})}(y)$  and the conclusion holds.

(2) By Lemma 2.1 (1) and (4), it follows immediately from (1).

(3) For any  $y \in V$ , if  $y \in V \setminus f(U)$ ,  $f(\overline{\mu}_{\tilde{N}})(y) = 0$ , then the conclusion is obvious. We just need to prove the case  $y \in f(U)$  in the following.

$$\overline{f(\mu)}_{f(\tilde{N})}(y) = \inf_{\omega \in f(\tilde{N})(y)} \sup_{y' \in V} (\omega(y') \otimes f(\mu)(y')).$$

According to the definition of  $f(\tilde{N})(y)$  and  $y \in f(U)$ , for any  $\omega \in f(\tilde{N})(y)$ , there exists  $x'' \in f^{-1}(\{y\})$  and  $\nu \in \tilde{N}(x'')$ , such that  $\omega = f(\nu)$ . Thus

$$\overline{f(\mu)}_{f(\tilde{N})}(y) = \inf_{\nu \in \bigcup_{x'' \in U_y} \tilde{N}(x'')} \sup_{y' \in V} (f(\nu)(y') \otimes f(\mu)(y')).$$

Because  $f$  is weakly sys-consistent with respect to  $\tilde{N}$ , for any  $x'' \in U_y$ ,

$$\overline{f(\mu)}_{f(\tilde{N})}(y) = \inf_{\nu \in \tilde{N}(x'')} \sup_{y' \in V} (f(\nu)(y') \otimes f(\mu)(y')).$$

For any  $y' \in V$ , if  $y' \in V \setminus f(U)$ , then by Zadeh extension principle,  $f(\nu)(y') = 0$ . Thus

$$\begin{aligned} \sup_{y' \in V} (f(\nu)(y') \otimes f(\mu)(y')) &= (\sup_{y' \in f(U)} (f(\nu)(y') \otimes f(\mu)(y'))) \vee (0 \otimes f(\mu)(y')) \\ &= (\sup_{x' \in U} (f(\nu)(f(x')) \otimes f(\mu)(f(x')))) \vee 0 \\ &= \sup_{x' \in U} (f(\nu)(f(x')) \otimes f(\mu)(f(x'))). \end{aligned}$$

So we have for any  $x'' \in U_y$ ,

$$\overline{f(\mu)}_{f(\tilde{N})}(y) = \inf_{\nu \in \tilde{N}(x'')} \sup_{x' \in U} (f(\nu)(f(x')) \otimes f(\mu)(f(x'))).$$

In addition, we get

$$f(\overline{\mu}_{\tilde{N}})(y) = \sup_{x \in U_y} \overline{\mu}_{\tilde{N}}(x) = \sup_{x \in U_y} \inf_{\nu \in \tilde{N}(x)} \sup_{x' \in U} (\nu(x') \otimes \mu(x')).$$

For any  $x \in U_y$ , namely,  $f(x) = y$ , because  $\nu(x') \leq f(\nu)(f(x'))$ ,  $\mu(x') \leq f(\mu)(f(x'))$

$$\nu(x') \otimes \mu(x') \leq f(\nu)(f(x')) \otimes f(\mu)(f(x')).$$

Hence we have

$$\inf_{\nu \in \tilde{N}(x)} \sup_{x' \in U} (\nu(x') \otimes \mu(x')) \leq \inf_{\nu \in \tilde{N}(x)} \sup_{x' \in U} (f(\nu)(f(x')) \otimes f(\mu)(f(x'))),$$

because  $f(x) = y$ ,  $\inf_{\nu \in \tilde{N}(x)} \sup_{x' \in U} (f(\nu)(f(x')) \otimes f(\mu)(f(x'))) = \overline{f(\mu)}_{f(\tilde{N})}(y)$ . Therefore, by the arbitrariness of  $x$ , we get

$$f(\overline{\mu}_{\tilde{N}})(y) = \sup_{x \in U_y} \overline{\mu}_{\tilde{N}}(x) \leq \overline{f(\mu)}_{f(\tilde{N})}(y)$$

and the conclusion holds.

(4) By Lemma 2.1 (1) and (4), it follows immediately from (3).  $\square$

**Theorem 3.3.** Let  $U$  and  $V$  be two nonempty universes, let  $\tilde{N} : U \rightarrow P(F(U))$  be an FNS, and let  $f : U \rightarrow V$  be a mapping. Then for any fuzzy subset  $\lambda \in F(V)$ , we have

- (1)  $\underline{\lambda}_{f(\tilde{N})} \subseteq f(\overline{f^{-1}(\lambda)}_{\tilde{N}})$ ,
- (2)  $f^{-1}(\underline{\lambda}_{f(\tilde{N})}) \subseteq \overline{f^{-1}(\lambda)}_{\tilde{N}}$  if  $f$  is weakly sys-consistent with respect to  $\tilde{N}$ ,
- (3)  $f(\overline{f^{-1}(\lambda)}_{\tilde{N}}) \subseteq \overline{\lambda}_{f(\tilde{N})}$  if  $f$  is weakly sys-consistent with respect to  $\tilde{N}$ ,
- (4)  $\overline{f^{-1}(\lambda)}_{\tilde{N}} \subseteq f^{-1}(\overline{\lambda}_{f(\tilde{N})})$  if  $f$  is weakly sys-consistent with respect to  $\tilde{N}$ .

*Proof.* (1) For any  $y \in V$ , if  $y \in V \setminus f(U)$ ,  $\underline{\lambda}_{f(\tilde{N})}(y) = 0$ , then the conclusion is obvious. We just need to prove the case  $y \in f(U)$  in the following.

$$\underline{\lambda}_{f(\tilde{N})}(y) = \sup_{\omega \in f(\tilde{N})(y)} \inf_{y' \in V} (\omega(y') \rightarrow \lambda(y')).$$

According to the definition of  $f(\tilde{N})(y)$ , for any  $\omega \in f(\tilde{N})(y)$ , there exists  $x \in U$  and  $\nu \in \tilde{N}(x)$  such that  $f(x) = y$  and  $\omega = f(\nu)$ . Thus

$$\begin{aligned} \underline{\lambda}_{f(\tilde{N})}(y) &= \sup_{\nu \in \bigcup_{x \in U_y} \tilde{N}(x)} \inf_{y' \in V} (f(\nu)(y') \rightarrow \lambda(y')) \\ &= \sup_{x \in U_y} \sup_{\nu \in \tilde{N}(x)} \inf_{y' \in V} (f(\nu)(y') \rightarrow \lambda(y')). \end{aligned}$$

For any  $y' \in V$ , if  $y' \in V \setminus f(U)$ , then by Zadeh extension principle,  $f(\nu)(y') = 0$ . Thus

$$\begin{aligned} \inf_{y' \in V} (f(\nu)(y') \rightarrow \lambda(y')) &= (\inf_{y' \in f(U)} (f(\nu)(y') \rightarrow \lambda(y'))) \wedge (0 \rightarrow \lambda(y')) \\ &= (\inf_{x' \in U} (f(\nu)(f(x')) \rightarrow \lambda(f(x')))) \wedge 1 \\ &= \inf_{x' \in U} (f(\nu)(f(x')) \rightarrow \lambda(f(x'))). \end{aligned}$$

So  $\underline{\lambda}_{f(\tilde{N})}(y) = \sup_{x \in U_y} \sup_{\nu \in \tilde{N}(x)} \inf_{x' \in U} (f(\nu)(f(x')) \rightarrow \lambda(f(x')))$ .

In addition, we have

$$\begin{aligned} f(\underline{f^{-1}(\lambda)}_{\tilde{N}})(y) &= \sup_{x \in U_y} \underline{f^{-1}(\lambda)}_{\tilde{N}}(x) \\ &= \sup_{x \in U_y} \sup_{\nu \in \tilde{N}(x)} \inf_{x' \in U} (v(x') \rightarrow \lambda(f(x'))). \end{aligned}$$

Because  $\nu(x') \leq f(\nu)(f(x'))$  and fuzzy implication operator is decreasing with respect to the first variable, we get

$$v(x') \rightarrow \lambda(f(x')) \geq f(\nu)(f(x')) \rightarrow \lambda(f(x')).$$

Hence  $f(\underline{f^{-1}(\lambda)}_{\tilde{N}})(y) \geq \underline{\lambda}_{f(\tilde{N})}(y)$  and the conclusion holds.

(2) For any  $x \in U$ ,

$$\begin{aligned} f^{-1}(\underline{\lambda}_{f(\tilde{N})})(x) &= \underline{\lambda}_{f(\tilde{N})}(f(x)) \\ &= \sup_{\omega \in f(\tilde{N})(f(x))} \inf_{y \in V} (\omega(y) \rightarrow \lambda(y)). \end{aligned}$$

According to the definition of  $f(\tilde{N})(f(x))$ , for any  $\omega \in f(\tilde{N})(f(x))$ , there exists  $x'' \in U$  and  $\nu \in \tilde{N}(x'')$  such that  $x'' \in [x]_f$  (namely,  $f(x'') = f(x)$ ) and  $\omega = f(\nu)$ . Then we have

$$f^{-1}(\underline{\lambda}_{f(\tilde{N})})(x) = \sup_{\nu \in \bigcup_{x'' \in [x]_f} \tilde{N}(x'')} \inf_{y \in V} (f(\nu)(y) \rightarrow \lambda(y)).$$

Because  $f$  is weakly sys-consistent with respect to  $\tilde{N}$ ,

$$f^{-1}(\underline{\lambda}_{f(\tilde{N})})(x) = \sup_{\nu \in \tilde{N}(x)} \inf_{y \in V} (f(\nu)(y) \rightarrow \lambda(y)).$$



For any  $y \in V$ , if  $y \in V \setminus f(U)$ , then by the Zadeh extension principle,  $f(\nu)(y) = 0$ . Thus

$$\begin{aligned} \inf_{y \in V} (f(\nu)(y) \rightarrow \lambda(y)) &= (\inf_{y \in f(U)} (f(\nu)(y) \rightarrow \lambda(y))) \wedge (0 \rightarrow \lambda(y)) \\ &= (\inf_{x' \in U} (f(\nu)(f(x')) \rightarrow \lambda(f(x')))) \wedge 1 \\ &= \inf_{x' \in U} (f(\nu)(f(x')) \rightarrow \lambda(f(x'))). \end{aligned}$$

So  $f^{-1}(\underline{\Delta}_{f(\tilde{N})})(x) = \sup_{\nu \in \tilde{N}(x)} \inf_{x' \in U} (f(\nu)(f(x')) \rightarrow \lambda(f(x')))$ .

In addition,  $\overline{f^{-1}(\lambda)}_{\tilde{N}}(x) = \sup_{\nu \in \tilde{N}(x)} \inf_{x' \in U} (\nu(x') \rightarrow \lambda(f(x')))$ .

Because  $f(\nu)(f(x')) \geq \nu(x')$  and fuzzy implication operator is decreasing with respect to the first variable,

$$f(\nu)(f(x')) \rightarrow \lambda(f(x')) \leq \nu(x') \rightarrow \lambda(f(x')).$$

Hence  $f^{-1}(\underline{\Delta}_{f(\tilde{N})})(x) \leq \overline{f^{-1}(\lambda)}_{\tilde{N}}(x)$ . By the arbitrariness of  $x$ , the conclusion holds.

(3) The conclusion can be proved similarly.

(4) By Lemma 2.1 (3) and (4), it follows immediately from (3).  $\square$

**Theorem 3.4.** *Let  $U$  and  $V$  be two nonempty universes, let  $\tilde{N} : U \rightarrow P(F(U))$  be an FNS, and let  $f : U \rightarrow V$  be a function. Then for any fuzzy subset  $\lambda \in F(V)$ , if  $f$  is consistent with respect to  $\tilde{N}$ , then we have*

- (1)  $\underline{\Delta}_{f(\tilde{N})} \supseteq f(\underline{f^{-1}(\lambda)}_{\tilde{N}})$ ,
- (2)  $f^{-1}(\underline{\Delta}_{f(\tilde{N})}) \supseteq \underline{f^{-1}(\lambda)}_{\tilde{N}}$ ,
- (3)  $f(\overline{f^{-1}(\lambda)}_{\tilde{N}}) \supseteq \overline{\lambda}_{f(\tilde{N})}$ ,
- (4)  $\overline{f^{-1}(\lambda)}_{\tilde{N}} \supseteq f^{-1}(\overline{\lambda}_{f(\tilde{N})})$ .

*Proof.* The theorem can be proved similarly.  $\square$

A common corollary of the two theorems above shows the transformation of the consistent functions with respect to interior and closure.

**Corollary 3.5.** *With the common notations of  $U$ ,  $V$ , and  $\tilde{N}$ , and  $f$  in the theorems above, then for any fuzzy subset  $\lambda \in F(V)$ , we have*

- (1)  $\underline{\Delta}_{f(\tilde{N})} = f(\underline{f^{-1}(\lambda)}_{\tilde{N}})$  if  $f$  is consistent with respect to  $\tilde{N}$ ,
- (2)  $f^{-1}(\underline{\Delta}_{f(\tilde{N})}) = \underline{f^{-1}(\lambda)}_{\tilde{N}}$  if  $f$  is consistent and weakly sys-consistent with respect to  $\tilde{N}$ ,
- (3)  $f(\overline{f^{-1}(\lambda)}_{\tilde{N}}) = \overline{\lambda}_{f(\tilde{N})}$  if  $f$  is consistent and weakly sys-consistent with respect to  $\tilde{N}$ ,
- (4)  $\overline{f^{-1}(\lambda)}_{\tilde{N}} = f^{-1}(\overline{\lambda}_{f(\tilde{N})})$  if  $f$  is consistent and weakly sys-consistent with respect to  $\tilde{N}$ .

*Proof.* It follows immediately from Theorem 3.3 and Theorem 3.4.  $\square$

**Theorem 3.6.** *Let  $U$  and  $V$  be two nonempty universes, let  $\tilde{N} : U \rightarrow P(F(U))$  be an FNS, and let  $f : U \rightarrow V$  be a function. If the fuzzy implication operator and the*

*t*-norm form an adjoint pair, then for any fuzzy subsets  $\mu \in F(U)$  and  $\lambda \in F(V)$ ,  $\mu^c \in F(U)$  (for any  $x \in U$ ,  $\mu^c(x) = \mu(x) \rightarrow 0$ ), we have

- (1)  $\bar{\mu}_{\tilde{N}} \subseteq (\underline{\mu}_{\tilde{N}}^c)^c$ ,
- (2)  $\underline{\mu}_{\tilde{N}} \subseteq (\bar{\mu}_{\tilde{N}}^c)^c$ ,
- (3)  $\bar{\lambda}_{f(\tilde{N})} \subseteq (\underline{\lambda}_{f(\tilde{N})}^c)^c$ ,
- (4)  $\underline{\lambda}_{f(\tilde{N})} \subseteq (\bar{\lambda}_{f(\tilde{N})}^c)^c$ .

*Proof.* We prove the first and second item of the theorem, and the other ones can be proved similarly.

- (1) For any  $x \in U$ ,

$$\begin{aligned} (\underline{\mu}_{\tilde{N}}^c)^c(x) &= \underline{\mu}_{\tilde{N}}^c(x) \rightarrow 0 \\ &= \sup_{\nu \in \tilde{N}(x)} \inf_{x' \in U} (\nu(x') \rightarrow \mu^c(x')) \rightarrow 0 \\ &= \inf_{\nu \in \tilde{N}(x)} (\inf_{x' \in U} (\nu(x') \rightarrow \mu^c(x')) \rightarrow 0) \\ &\geq \inf_{\nu \in \tilde{N}(x)} \sup_{x' \in U} ((\nu(x') \rightarrow \mu^c(x')) \rightarrow 0) \\ &= \inf_{\nu \in \tilde{N}(x)} \sup_{x' \in U} ((\nu(x') \rightarrow (\mu(x') \rightarrow 0)) \rightarrow 0) \\ &\geq \inf_{\nu \in \tilde{N}(x)} \sup_{x' \in U} (\nu(x') \otimes \mu(x')) \\ &= \bar{\mu}_{\tilde{N}}(x). \end{aligned}$$

Then the conclusion holds.

- (2) For any  $x \in U$ ,

$$\begin{aligned} (\bar{\mu}_{\tilde{N}}^c)^c(x) &= \bar{\mu}_{\tilde{N}}^c(x) \rightarrow 0 \\ &= \inf_{\nu \in \tilde{N}(x)} \sup_{x' \in U} (\nu(x') \otimes \mu^c(x')) \rightarrow 0 \\ &\geq \sup_{\nu \in \tilde{N}(x)} (\sup_{x' \in U} (\nu(x') \otimes \mu^c(x')) \rightarrow 0) \\ &= \sup_{\nu \in \tilde{N}(x)} \inf_{x' \in U} ((\nu(x') \otimes \mu^c(x')) \rightarrow 0) \\ &= \sup_{\nu \in \tilde{N}(x)} \inf_{x' \in U} (\nu(x') \rightarrow (\mu^c(x') \rightarrow 0)) \\ &= \sup_{\nu \in \tilde{N}(x)} \inf_{x' \in U} (\nu(x') \rightarrow ((\mu(x') \rightarrow 0) \rightarrow 0)) \\ &\geq \sup_{\nu \in \tilde{N}(x)} \inf_{x' \in U} (\nu(x') \rightarrow \mu(x')) \\ &= \underline{\mu}_{\tilde{N}}(x). \end{aligned}$$

Then the conclusion holds. □

**Theorem 3.7.** Let  $U$  and  $V$  be two nonempty universes, let  $\tilde{N} : U \rightarrow P(F(U))$  be an FNS, and let  $f : U \rightarrow V$  be a mapping. If the fuzzy implication operator and the *t*-norm are Lukasiewicz operators as we said in (2.3) and (2.4). Then for

any fuzzy subsets  $\mu \in F(U)$  and  $\lambda \in F(V)$ ;  $\mu^c \in F(U)$ , and for any  $x \in U$ ,  $\mu^c(x) = \mu(x) \rightarrow 0 = 1 - \mu(x)$ , we have

- (1)  $\bar{\mu}_{\tilde{N}} = (\underline{\mu}_{\tilde{N}}^c)^c$ ,
- (2)  $\underline{\mu}_{\tilde{N}} = (\bar{\mu}_{\tilde{N}}^c)^c$ ,
- (3)  $\bar{\lambda}_{f(\tilde{N})} = (\underline{\lambda}_{f(\tilde{N})}^c)^c$ ,
- (4)  $\underline{\lambda}_{f(\tilde{N})} = (\bar{\lambda}_{f(\tilde{N})}^c)^c$ .

*Proof.* We prove the first and second item of the theorem, and the other ones can be proved similarly.

- (1) For any  $x \in U$ ,

$$\begin{aligned} (\underline{\mu}_{\tilde{N}}^c)^c(x) &= 1 - \sup_{\nu \in \tilde{N}(x)} \inf_{x' \in U} (\nu(x') \rightarrow \mu^c(x')) \\ &= \inf_{\nu \in \tilde{N}(x)} \sup_{x' \in U} (1 - (\nu(x') \rightarrow (1 - \mu(x')))) \\ &= \inf_{\nu \in \tilde{N}(x)} \sup_{x' \in U} ((\nu(x') + \mu(x')) \vee 0) \\ &= \bar{\mu}_{\tilde{N}}(x). \end{aligned}$$

Then the conclusion holds.

- (2) For any  $x \in U$ ,

$$\begin{aligned} (\bar{\mu}_{\tilde{N}}^c)^c(x) &= 1 - \inf_{\nu \in \tilde{N}(x)} \sup_{x' \in U} (\nu(x') \otimes \mu^c(x')) \\ &= \sup_{\nu \in \tilde{N}(x)} \inf_{x' \in U} (1 - (\nu(x') \otimes \mu^c(x'))) \\ &= \sup_{\nu \in \tilde{N}(x)} \inf_{x' \in U} (\nu(x') \rightarrow \mu(x')) \\ &= \underline{\mu}_{\tilde{N}}(x). \end{aligned}$$

Then the conclusion holds. □

#### 4. THE INTERIOR AND CLOSURE OPERATORS IN FNS ON THE IMAGE UNIVERSE

Similarly, let  $f : U \rightarrow V$  be a mapping and  $\tilde{N} : V \rightarrow P(F(V))$  be an FNS on  $V$ . Then,  $f^{-1}(\tilde{N}) : U \rightarrow P(F(U))$  is an FNS on  $U$  given by:

$$(4.1) \quad f^{-1}(\tilde{N})(x) = f^{-1}(\tilde{N}(f(x))) = \{f^{-1}(A) | A \in \tilde{N}(f(x))\}$$

for any  $x \in U$ . Clearly,  $f$  is sys-consistent with respect to  $f^{-1}(\tilde{N})$ .

Some preservation results about closure and interior with respect to  $\tilde{N}$  and  $f(\tilde{N})$  are presented before. In this section, we consider the related properties with respect to  $\tilde{N}$  and  $f^{-1}(\tilde{N})$ . Let  $\tilde{N} : U \rightarrow P(F(U))$  be an FNS on  $U$  and let  $W \subseteq U$ . We define the restriction of  $\tilde{N}$  to  $W$  as an FNS on  $W$ , that is  $\tilde{N}|_W : W \rightarrow P(F(W))$ , such that  $\tilde{N}|_W(x) = \{\mu|_W | \mu \in \tilde{N}(x)\}$  for each  $x \in W$ .

**Theorem 4.1.** Let  $\tilde{N} : V \rightarrow P(F(V))$  be an FNS on  $V$ ,  $f : U \rightarrow V$  and  $\lambda \in F(V)$ .

- (1)  $f^{-1}(\underline{\lambda}_{\tilde{N}}) \subseteq \underline{f^{-1}(\lambda)}_{f^{-1}(\tilde{N})}$ .
- (2)  $\underline{\lambda}_{\tilde{N}}|_{f(U)} \subseteq \underline{f(f^{-1}(\lambda))}_{f^{-1}(\tilde{N})}|_{f(U)}$ .

- 3)  $f(\overline{f^{-1}(\lambda)}_{f^{-1}(\tilde{N})}) \subseteq \overline{\lambda}_{\tilde{N}}$ .
- (4)  $\overline{f^{-1}(\lambda)}_{f^{-1}(\tilde{N})} \subseteq f^{-1}(\overline{\lambda}_{\tilde{N}})$ .
- (5)  $f^{-1}(\underline{\lambda}_{\tilde{N}}) = \underline{f^{-1}(\lambda)}_{f^{-1}(\tilde{N})}$  and  $\underline{\lambda}_{\tilde{N}} = f(\underline{f^{-1}(\lambda)}_{f^{-1}(\tilde{N})})$  if  $f$  is surjective.

*Proof.* We prove (1) and (5) of the theorem, and the other items can be proved similarly.

(1) For each  $x \in U$ , we have

$$f^{-1}(\underline{\lambda}_{\tilde{N}})(x) = \underline{\lambda}_{\tilde{N}}(f(x)) = \sup_{\nu \in \tilde{N}(f(x))} \inf_{y \in V} (\nu(y) \rightarrow \lambda(y)).$$

In addition, according to (4.1),

$$\begin{aligned} \underline{f^{-1}(\lambda)}_{f^{-1}(\tilde{N})}(x) &= \sup_{\mu \in f^{-1}(\tilde{N})(x)} \inf_{x' \in U} (\mu(x) \rightarrow f^{-1}(\lambda)(x)) \\ &= \sup_{\nu \in \tilde{N}(f(x))} \inf_{x' \in U} (f^{-1}(\nu)(x) \rightarrow f^{-1}(\lambda)(x)) \\ &= \sup_{\nu \in \tilde{N}(f(x))} \inf_{x' \in U} (\nu(f(x)) \rightarrow \lambda(f(x))) \\ &= \sup_{\nu \in \tilde{N}(f(x))} \inf_{y \in f(U)} (\nu(y) \rightarrow \lambda(y)). \end{aligned}$$

Because  $\inf_{y \in V} (\nu(y) \rightarrow \lambda(y)) \leq \inf_{y \in f(U)} (\nu(y) \rightarrow \lambda(y))$ ,

$$f^{-1}(\underline{\lambda}_{\tilde{N}})(x) \leq \underline{f^{-1}(\lambda)}_{f^{-1}(\tilde{N})}(x).$$

Then the conclusion holds.

(5) For any  $x \in U$  and  $\nu \in \tilde{N}(f(x))$ , since  $f$  is surjective, we have

$$\inf_{y \in f(U)} (\nu(y) \rightarrow \lambda(y)) = \inf_{y \in V} (\nu(y) \rightarrow \lambda(y)).$$

By (1), we know that

$$\begin{aligned} f^{-1}(\underline{\lambda}_{\tilde{N}})(x) &= \sup_{\nu \in \tilde{N}(f(x))} \inf_{y \in V} (\nu(y) \rightarrow \lambda(y)) \\ \underline{f^{-1}(\lambda)}_{f^{-1}(\tilde{N})}(x) &= \sup_{\nu \in \tilde{N}(f(x))} \inf_{y \in f(U)} (\nu(y) \rightarrow \lambda(y)). \end{aligned}$$

Then  $f^{-1}(\underline{\lambda}_{\tilde{N}})(x) = \underline{f^{-1}(\lambda)}_{f^{-1}(\tilde{N})}(x)$ . Thus  $f^{-1}(\underline{\lambda}_{\tilde{N}}) = \underline{f^{-1}(\lambda)}_{f^{-1}(\tilde{N})}$ . In addition, we have  $\underline{\lambda}_{\tilde{N}} = f(f^{-1}(\underline{\lambda}_{\tilde{N}})) = f(\underline{f^{-1}(\lambda)}_{f^{-1}(\tilde{N})})$ .  $\square$

**Theorem 4.2.** Let  $\tilde{N} : V \rightarrow P(F(V))$  be an FNS on  $V$ ,  $f : U \rightarrow V$  and  $\mu \in F(U)$ .

- (1)  $f(\underline{\mu}_{f^{-1}(\tilde{N})})|_{f(U)} \subseteq \underline{f(\mu)}|_{f(U)} \tilde{N}|_{f(U)}$ .
- (2)  $\underline{\mu}_{f^{-1}(\tilde{N})} \subseteq f^{-1}(f(\mu)|_{f(U)} \tilde{N}|_{f(U)})$ .
- (3)  $f(\underline{\mu}_{f^{-1}(\tilde{N})}) \subseteq \underline{f(\mu)}_{\tilde{N}}$  and  $\underline{\mu}_{f^{-1}(\tilde{N})} \subseteq f^{-1}(\underline{f(\mu)}_{\tilde{N}})$  if  $f$  is surjective.
- (4)  $f(\overline{\mu}_{f^{-1}(\tilde{N})})|_{f(U)} \subseteq \overline{f(\mu)}|_{f(U)} \tilde{N}|_{f(U)}$ .
- (5)  $\overline{\mu}_{f^{-1}(\tilde{N})} \subseteq f^{-1}(\overline{f(\mu)}|_{f(U)} \tilde{N}|_{f(U)})$ .

*Proof.* (1) According (4.1), for any  $y \in f(U)$ ,  $x \in U_y$  and  $\nu \in f^{-1}(\tilde{N})(x)$ , we have

$$\begin{aligned} \underline{\mu}_{f^{-1}(\tilde{N})}(x) &= \sup_{\nu \in f^{-1}(\tilde{N})(x)} \inf_{z \in U} (\nu(z) \rightarrow \mu(z)) \\ &= \sup_{\lambda \in \tilde{N}(y)} \inf_{z \in U} (f^{-1}(\lambda)(z) \rightarrow \mu(z)) \\ &= \sup_{\lambda \in \tilde{N}(y)} \inf_{z \in U} (\lambda(f(z)) \rightarrow \mu(z)). \end{aligned}$$

It follows that

$$\begin{aligned} f(\underline{\mu}_{f^{-1}(\tilde{N})})|_{f(U)}(y) &= \sup_{x \in f^{-1}(\{y\})} \underline{\mu}_{f^{-1}(\tilde{N})}(x) \\ &= \sup_{\lambda \in \tilde{N}(y)} \inf_{z \in U} (\lambda(f(z)) \rightarrow \mu(z)). \end{aligned}$$

In addition, we have

$$\begin{aligned} \overline{f(\mu)}|_{f(U)} \tilde{N}|_{f(U)}(y) &= \sup_{\lambda \in \tilde{N}(y)} \inf_{u \in f(U)} (\lambda(u) \rightarrow f(\mu)|_{f(U)}(u)) \\ &= \sup_{\lambda \in \tilde{N}(y)} \inf_{z \in U} (\lambda(f(z)) \rightarrow f(\mu)|_{f(U)}(f(z))). \end{aligned}$$

Because  $f(\mu)|_{f(U)}(f(z)) = \sup_{x \in [z]_f} \mu(x) \geq \mu(z)$ ,

$$\lambda(f(z)) \rightarrow f(\mu)|_{f(U)}(f(z)) \geq \lambda(f(z)) \rightarrow \mu(z).$$

Then  $f(\underline{\mu}_{f^{-1}(\tilde{N})})|_{f(U)}(y) \leq \overline{f(\mu)}|_{f(U)} \tilde{N}|_{f(U)}(y)$ .

(2) It can be proved similarly.

(3) follows directly from (1) and (2).

(4) According (4.1), for any  $y \in f(U)$ ,  $x \in U_y$  and  $\nu \in f^{-1}(\tilde{N})(x)$ , we have

$$\begin{aligned} \overline{\mu}_{f^{-1}(\tilde{N})}(x) &= \inf_{\nu \in f^{-1}(\tilde{N})(x)} \sup_{z \in U} (\nu(z) \otimes \mu(z)) \\ &= \inf_{\lambda \in \tilde{N}(y)} \sup_{z \in U} (f^{-1}(\lambda)(z) \otimes \mu(z)) \\ &= \inf_{\lambda \in \tilde{N}(y)} \sup_{z \in U} (\lambda(f(z)) \otimes \mu(z)). \end{aligned}$$

It follows that

$$\begin{aligned} f(\overline{\mu}_{f^{-1}(\tilde{N})})(y) &= \sup_{x \in f^{-1}(\{y\})} \overline{\mu}_{f^{-1}(\tilde{N})}(x) \\ &= \sup_{x \in f^{-1}(\{y\})} \inf_{\lambda \in \tilde{N}(y)} \sup_{z \in U} (\lambda(f(z)) \otimes \mu(z)) \\ &= \inf_{\lambda \in \tilde{N}(y)} \sup_{z \in U} (\lambda(f(z)) \otimes \mu(z)). \end{aligned}$$

In addition, we have

$$\begin{aligned} \overline{f(\mu)}|_{f(U)} \tilde{N}|_{f(U)}(y) &= \inf_{\lambda \in \tilde{N}(y)} \sup_{v \in f(U)} (\lambda(v) \otimes f(\mu)(v)) \\ &= \inf_{\lambda \in \tilde{N}(y)} \sup_{z \in U} (\lambda(f(z)) \otimes f(\mu)(f(z))). \end{aligned}$$

Because  $\mu(z) \leq f(\mu)(f(z))$ ,  $\lambda(f(z)) \otimes \mu(z) \leq \lambda(f(z)) \otimes f(\mu)(f(z))$ . Then we get

$$f(\bar{\mu}_{f^{-1}(\tilde{N})})|_{f(U)}(y) \leq \overline{f(\mu)}|_{f(U)\tilde{N}|_{f(U)}}(y).$$

(5) It can be proved similarly. □

**Theorem 4.3.** Let  $\tilde{N} : V \rightarrow P(F(V))$  be an FNS on  $V$ ,  $f : U \rightarrow V$ ,  $\mu \in F(U)$  and  $\otimes$  be a left-continuous t-norm.

- (1)  $f(\bar{\mu}_{f^{-1}(\tilde{N})})|_{f(U)} = \overline{f(\mu)}|_{f(U)\tilde{N}|_{f(U)}}$ .
- (2)  $\bar{\mu}_{f^{-1}(\tilde{N})} = f^{-1}(\overline{f(\mu)}|_{f(U)\tilde{N}|_{f(U)}})$ .
- (3)  $f(\bar{\mu}_{f^{-1}(\tilde{N})}) = \overline{f(\mu)}_{\tilde{N}}$  and  $\bar{\mu}_{f^{-1}(\tilde{N})} = f^{-1}(\overline{f(\mu)}_{\tilde{N}})$  if  $f$  is surjective.

*Proof.* (1) For any  $y \in f(U)$ , by Theorem 4.2 (4), we have

$$\begin{aligned} f(\bar{\mu}_{f^{-1}(\tilde{N})})|_{f(U)}(y) &= \sup_{x \in f^{-1}(\{y\})} \bar{\mu}_{f^{-1}(\tilde{N})}(x) \\ &= \inf_{\lambda \in \tilde{N}(y)} \sup_{z \in U} (\lambda(f(z)) \otimes \mu(z)), \\ \overline{f(\mu)}|_{f(U)\tilde{N}|_{f(U)}}(y) &= \inf_{\lambda \in \tilde{N}(y)} \sup_{v \in f(U)} (\lambda(v) \otimes f(\mu)(v)). \end{aligned}$$

For any  $\lambda \in \tilde{N}(y)$  and  $v \in f(U)$ , we have

$$\begin{aligned} \lambda(v) \otimes f(\mu)(v) &= \lambda(v) \otimes \sup_{x' \in f^{-1}(\{v\})} \mu(x') \\ &= \sup_{x' \in f^{-1}(\{v\})} (\lambda(v) \otimes \mu(x')) \\ &= \sup_{x' \in f^{-1}(\{v\})} (\lambda(f(x')) \otimes \mu(x')) \\ &\leq \sup_{z \in U} (\lambda(f(z)) \otimes \mu(z)). \end{aligned}$$

Then we have  $\sup_{v \in f(U)} (\lambda(v) \otimes f(\mu)(v)) \leq \sup_{z \in U} (\lambda(f(z)) \otimes \mu(z))$ . This gives

$$\overline{f(\mu)}|_{f(U)\tilde{N}|_{f(U)}}(y) \leq f(\bar{\mu}_{f^{-1}(\tilde{N})})|_{f(U)}(y).$$

Thus  $f(\bar{\mu}_{f^{-1}(\tilde{N})})|_{f(U)} = \overline{f(\mu)}|_{f(U)\tilde{N}|_{f(U)}}$  by Theorem 4.2 (4).

(2) It can be proved similarly.

(3) It follows directly from (1) and (2). □

## 5. CONCLUSIONS

In the preceding account, we defined a generalized notion of interior and closure for FNS, where generalized t-norms and fuzzy implication operator. Some preservation results on the interior and closure of fuzzy neighborhood system under consistent functions are presented. We note that (granular) consistent function and weakly sys-consistent functions satisfy structural-preservation properties with respect to interior and closure operators of fuzzy neighborhood system on the universe. However, we also show that preservations are related to surjective functions in fuzzy neighborhood systems on the image universe. Compared with neighborhood systems, the

basic preservations remain similar, this also confirms that our conclusion is reasonable in the sense, and some definitions and results for neighborhood systems can be generalized to the fuzzy case. Furthermore, if the t-norms and fuzzy implication operator are Lukasiewicz operators, the interior and closure can obtain special properties like the duality of upper and lower approximation operator in rough set theory.

However, due to the limitation of space, we just investigate the duality for fuzzy neighborhood system, the more similar properties can be explored in the future. For example, the upper approximation keeps the union operation, and the lower keeps the intersection. More research on properties of operators for fuzzy neighborhood systems will be completed in the future. It may be similar to the generalized rough set model, explore the properties of operators from the binary relations of reflexivity, symmetry, and transitivity. In addition, the requirements for operators may be more stringent, this adds to the difficulty of the problem.

#### REFERENCES

- [1] Z. Pawlak, Rough sets, *Int. J. Comput. Inf. Sci.* 11 (5) (1982) 341–356.
- [2] Z. Pawlak, *Rough sets, Theoretical Aspects of Reasoning about Data*, Kluwer Academic Publishers Dordrecht 1991.
- [3] D. Molodtsov, Soft set theory-first results, *Computers and Mathematics with Applications* 37 (4-5) (1999) 19–31.
- [4] G. Şenel, Soft Topology Generated by L-Soft Sets, *Journal of New Theory* 24 (2018) 88–100.
- [5] G. Şenel and N. Çağman, Soft Closed Sets on Soft Bitopological Space, *Journal of New Results in Science* Issue 5 (2014) 57–66.
- [6] G. Şenel, A New Approach to Hausdorff Space Theory via the Soft Sets, *Mathematical Problems in Engineering* 9 (2016) 1–6.
- [7] G. Şenel and N. Çağman, Soft topological subspaces, *Ann. Fuzzy Math. Inform.* 10 (4) (2015) 525–535.
- [8] Z. Pawlak, Information systems theoretical foundations, *Inf. Syst.* 6 (3) (1981) 205–218.
- [9] C. Wang, C. Wu, D. Chen, Q. Hu and C. Wu, Communicating between information systems, *Inform. Sci.* 178 (2008) 3228–3239.
- [10] Z. Pawlak, Andrzej Skowron, Rudiments of rough sets, *Inform. Sci.* 177 (2006) 3–27.
- [11] Z. Pawlak and Andrzej Skowron, Rough sets: some extensions, *Inform. Sci.* 177 (2006) 28–40.
- [12] Z. Pawlak and Andrzej Skowron, Rough sets and Boolean reasoning, *Inform. Sci.* 177 (2006) 41–73.
- [13] D. Y. Li and Y. C. Ma, Invariant characters of information systems under some homomorphisms, *Inform. Sci.* 129 (2000) 211–220.
- [14] P. Zhu and Q. Wen, Some improved results on communication between information systems, *Inf. Sci.* 180 (18) (2010) 3521–3531.
- [15] T. Y. Lin, Neighborhood systems-a qualitative theory for fuzzy and rough sets, in: P. Wang (Ed.), *Advances in Machine Intelligence and Soft Computing*, Duke University, North, Carolina (1997) 132–155.
- [16] L. D’eer, C. Cornelis and L. Godo, Fuzzy neighborhood operators based on fuzzy coverings, *Fuzzy Sets Syst.* 312 (C) (2017) 17–35.
- [17] Y. R. Syau, E. B. Lin and C. J. Liau, Neighborhood systems: rough set approximations and definability, *Fundam. Inform.* 159 (4) (2018) 429–450.
- [18] Z. Yu and D. Wang, Accuracy of approximation operators during covering evolutions, *Int. J. Approx. Reason.* 117 (2020) 1–14.
- [19] P. Zhu, H. Xie and Q. Wen, A unified definition of consistent functions, *Fundam. Inform.* 135 (3) (2014) 331–340.
- [20] C. J. Liau, E. Bing Lin and Y. R. Syau, On consistent functions for neighborhood systems, *International Journal of Approximate Reasoning* 121 (2020) 39–58.

- [21] M. M. Day, Convergence, closure, and neighborhoods, Duke Math. J. 11 (1944) 181–199.
- [22] T. Y. Lin, Y. Liu and W. Huang, Unifying rough set theories via large scaled granular computing, Fundam. Inform. 127 (1-4) (2013) 413–428.
- [23] T. Y. Lin, Granular computing: from rough sets and neighborhood systems to information granulation and computing with words, in: Proceedings of the 5th European Congress on Intelligent Techniques and Soft Computing, EUFIT'97 (1997) 1602–1606.
- [24] L. A. Zadeh, Fuzzy sets, Information and Control 8 (1965) 338–353.
- [25] L. Kitainik, Fuzzy Decision Procedures with Binary Relations, Kluwer, Dordrecht 1993.
- [26] D. S. Yeung, D. G. Chen, E. Tsang, J. Lee and X. Z. Wang, On the generalization of fuzzy rough sets, IEEE Trans. Fuzzy Syst. 13 (3) (2005) 343–361.

LONGYU HE (2267297748@qq.com)

School of Mathematics, Southwest Jiaotong University, Chengdu 611756, China

HUAN MA (2715627099@qq.com)

School of Mathematics, Southwest Jiaotong University, Chengdu 611756, China

HONG RAN (1938506038@qq.com)

School of Mathematics, Southwest Jiaotong University, Chengdu 611756, China

KEYUN QIN (Keyunqin@263.net)

School of Mathematics, Southwest Jiaotong University, Chengdu 611756, China